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_f+1momfuT@%é@@%ﬁw;

(1] VRGBAH f(2) = —=—
(1) F4ih R
(2) HAZFIR |2] < 1

(3) Mzl % FER arg(z) = 6.

(B MIMTIE & FEAE2ZHCTEZ S,

(1) RU{oo} 225 f(oo) = —1 ZFRW &S, (TR U {co} DI f(—1) = 0, f(1) = oo,
floo) = —1ZMWBMICHB.)

(2) BHEHDOAM {Rez > 0}, (MO f(—1) =0, f(1) = co 2B 5. X 5IC%Hf
DS f(—1) CHEEHEERLT S, 2O Lo BMHOBIZEI L co DHbE M, Hf
MoOBIZZ2OEDLEDHEBTH 205, f(0)=1L0AHITHE I ELBbD2.)

(3) 1=f(0) & =1 = f(oo) Ziih, ik 1I2BVTOIDAEE LTHO—. (X b IEMICIX
1E -1 Z2MHETE200DH) b, EB5ICHRPRREFHOTEZLL).)



